(41) 8826 (850E®)
ghisHID (GLoeneudBsHL)

Music (Western)
SBD 5P OFHG
0

~

SRS - RS s 01 &.
DYOTen BEm 40853 800D . gdm B8eEEO © 88nor wde gud.
023 gdmeO e 01 91853 O creay 408.
II s - DIE® e 02 8. 9O eney 605.
Bego» yEm© aBDle 0. O¢ emd BEndt wislBe® uydxm 10853
80530 0. ey 128. IO @500 A e0end ydm» PSS DI,
B o008 gdm nems’ ecmmon 88mdr wmde gue.

A @m0 - Oxvon O gE» 38 I 0. 953 ecw®O BEmJL
286 gue. 98 YBHEDO ey 12 MBS e 248.

B o200 - Oxpom dOmn & 3853 G 0. 953 @O 88t
w8 gue. 98 gm0 ey 12 BT e 248.

eweiBn o8Peens - o 289 - 306 (B0 @B B8JOE w8 edmed @d.
go cme = 100

23D ER® OHHS SO : I oo Il e = 100x0.6 = 60
ewiBm o8zems = 100x0.4 = 40
Des0d < = 100
\_ g C= LYY )
I o
BCBE & :

% 8Beg © udm»OE0 88nd wunesim.

*  BO0C ewd DA orgevm ovi 80 emidwim. (Bmived & B8Emdr wmd® wgwr ANDSen
DB s Ered.)

souallbs :

* 6160601 SNMTHBHEHHGD DL H([HD.

* Fflwmer oevevg I sl QuTmGHSTe el dwd OHfbhosBHS. (LFmFulsy ellenl pHINGBE LGS
lenl_& SHT6T QIlPHIGLILIBLD.)

Note :

%  Answer all questions.

% Select either the Correct or the most appropriate answer. (A multiple choice paper will be provided for
writing answers in the examination.)
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Underline the correct Answer.
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The correct time signature to the given rhythmic extract is,
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G & @158 Qude HgHDsIess,
LeiTeualsauBuieT o1&l SHILLLBeitem L guil igens eluifdalema)?
Which of the following describes the given triad?

g n
S
Ty
(1) Tonic triad of F Major (2) Dominant Triad of D Minor
(3) Tonic Triad of A Major (4) Mediant Triad of F major

BeRe 0 ¢ 8006 e®i8s3 ROPe?
LeieumalsalBuleT o1& L gulemsd GUldaILLL  eroaThHale GUwemTd @Gnlobalamg)?
Which of the following is the name of the note marked in the box?

(1) F (2) Eflat (3) G flat @) E

BB BEHT BB VeBReE eon ecRens O 8o D3es?
LsiieumeusmauBpie e1&l SHILILL Beiten QenaFlOuWTiss SFlenl 1l QUBILTRISHmSHS GHBlHSeTBa?
Which of the following is double the value of the given extract?
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The correct way of playing the given ornament is,
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Which of the following describes the given cadence?
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(1) Perfect Cadence in C minor (2) Imperfect Cadence in F minor
(3) Imperfect Cadence in A Flat major (4) Perfect Cadence in E flat major
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G & 18 800 arimded @uidbens’ O D3es’ e®Bs REC?
LstiieumeusauBmieT o1&l SHILLL (Beitenm Qeiigolsusisn @snCautaensnd @Glebalsmagl?
Which of the following is the inversion of the given interval?

ﬁ >
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b o>

e U
(1) Major 6th (2) Minor 3rd
(3) Perfect 5th (4) Minor 2nd

G & @15 ROBC B 500 e3s eBden B.Bm BO0DE0 s8obmme B8e®8 Ho(de 8o

O?
STULL (Beiten BemsusH8sH W FhISHd GiLlmen  SmpsHCHu FhSsH (Wemmenoulsd ST (Beugl
The oriental conversion of the given Western notation would be
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(3) B6 - € @ So+ o
A 0®85 deced edEdD @8m0n e®Dis p®e?
A GummLeT GHTLTLLL L 6DLDEIT,
The relative minor of A Major is,
(1) C sharp minor (2) A minor
(3) B minor (4) F sharp minor

DD BEHS BEWE WIOEBO e 600 DIOORW @85 B®?
Leaumauld e10BH60HEme Temed &6 HILILIL(B6TTeN FPmISmeNll QUTHIOITHS BT 6m6
Which of the following scales have the notes given below in common?
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(1) B major and D major (2) G major and E major
(3) G major and D major (4) G minor and D minor

G € @18 ©md Dicms g DO grenm HE 0®8s p@C?
LeTeumeusmeuBmIeT 6181 SILILIL Bsiten @enFliOuwimieny SFCsFT LTe Si6s BCumsd @eld@?
Which of the following would sound exactly the same as the given extract?
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LT63T6) e eTaIBM3I6N a@]ig,rren&,g‘)]smm&, O®TewiL LTy HL6ID?

Which of the following is a stately dance in i time?

(1) Bouree (2) Gigue (3) Mazurka (4) Minuet
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esE® dD8 o B0 @8l BuEe 8308 OE5 Bewtd & @aden Bonc® ©ORsies’ nO»
esEed ¢?

Weraupd LIwm@erm GLIL60&H6M60 6T&HI 6T6060T L LDLITHENOMULD HbaHH6MelBheH 2 WiTdHd LU L L snLseiler
FHhHEmend OHTLTFFLTE DHTF OFuideama?

Which of the following pedals of the piano lifts up all the dampers away from the strings and let all strings
that have been struck to continue vibrating ?

(1) Una Corda pedal (2) Damper pedal (3) Sostenuto pedal (4) Soft pedal

e01@m»530 7 e wd®yuber 00 & B el ewrdn Wr eOde e®8s p@Be?
Leiieu@ID eroeumiBeiey o1& S (Beien Camled Qewent QL mbleediB 7ougd b LJenriBHHIS enma?
Which of the following note completes the given chord to make it a Dominant 7th chord?
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SO BEHD BB WS ebs’ a5 ¢nd D& DS wBmww »YL?
eiteu@ld LML sTseflsd Wi gensweuTaseiL Omba CoupiLiBalsimmit?

Which of the following singer is least related to the others?

(1) Madonna (2) Latha Mangeshkar
(3) Bob Marley (4) Michael Jackson

St

©®D1 B85’ D108 YIrs ROW?

LleieumeteuBmIsiT 6151 HeUBTET FnBMIEGHLO?

Which of the following is a wrong statement?

(1) A Dominant 7th chord has 4 positions

(2) In an Interrupted cadence the 3rd of the vi® chord is doubled
(3) A Dominant 7th always resolves to Tonic

(4) A Dominant 7th is a discord

E e®dced 8 8ces30de 80080 Bwr a8 88nd 05305’ n@3¢?
Wesraumeneupmie 611 E Guoggflenr &8 AobGansafenem aflwimen (wpempuied smBasleima?
Which of the following is the key signature of E major written correctly?

nﬁ ﬁu ln 4 Lye # ﬁ
L : e &7
(1) Bﬂn i (2) %-n T (3) (4) s

©5088 L30B8 DEHNBOWO ©WI BBILN B MIeHL) E®DIBE PEC?
LedToumemeuBmieT siell @enFdemelldst GUTL @ensdE(pdaeilanmed @emnasHaliLBaleimset?
Which of the following instruments are performed in pop groups?

(1) Saxophone, Trombone Double Bass

(2) Lead guitar, Rhythm guitar, Drums

(3) Clarinet, Saxophone, Bassoon

(4) Saxophone, French Horn, Double Bass

783 woBmed ewi @O BB cernls D3es,
Mred GenaFulsd LWSTLGSHSIUILTS Qend HevL,
The style not used in Jazz music would be,

(1) Dixieland music (2) Swing music (3) Blues (4) Polyphonic
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SEB DO B Bt e®DB5 ROW?
LsiieumeneuBmIen stemed Hhd L LB HmHelsein?
Which of the following are known as plucked string instruments?

(1) Mandolin, Banjo (2) Harp, Piano (3) Violin, Guitar (4) Cello, Ukelele

@85 9538winy B ® AE B DB E®IDI?
LeiieumeneuBmls 616} SenFHEmHalasT @hHL SRenFulL 6 OHTLTLEDL Wieneu?
Which of the following instruments are related to Indian Music?

(1) Mrudangam / Sitar (2) Violin/ Cello
(3) Maddala / Getaberaya (4) Trumpet / Violin

©83020000% BeR® 00t e e®i8s3 woeltic?
OaTemBBTaseiey sihHamen Llfleysem 2 6w ?
How many Movements are there in a Sonata as a whole?

(1) lor2 @) 3 (3) 3or4 @) 4

0® ©2:B@BTevsd @@ oD &S O wodnww Dess?
Leiieu@D QenFulsnolIUTeNTSHEHeT WT Helen SHreudbl L HAB@&NwieT?
The composer belonging to the Modern period is,

(1) Chopin (2) Stravinsky (3) Debussy (4) Liszt
050N BeBEG ¢t el Dete e®iBs BOBC?

Quenym@ymeid erOBH60emeN SiglILIeNL WITHEH CsTewi Gl B LlsTalmelenaiBnien &7
Which of the following melody is based on a Pentatonic scale ?

F L Hh O ) | 1]
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23 B OGO PO B OGS ©wO® R DO gdrs e®dy g»8sl ROC?
LeTumemeuBmieT 61 @@ SCUTLIgelhheH @eiaiGomaiiener Senemidd LWLLIGHSHLILIGS B ?
Which of the following is used when connecting one keyboard with another?

(1) Midi cable (2) Sampler

(3) Sibelius (4) Notation Software

&783 woBm@ e v JBB0 Diemewnn D53es 6® awens’ BYIBIE?
eiteu®Eeummeir wWImT g3merd @engF SUb@G6mT WBBID L JIDUB Rend &Hene06ehT?
Which of the following is a Jazz composer and a trumpeter?

(1) Scott Joplin (2) Louis Armstrong
(3) Michael Jackson (4) Benjamin Britten

2.8 Destws BE@renc 05 B0 @fed® @wWi ©®B3BN EING DB3es3,
Qo yemenr @enFwens@Gl Cursl Siflersll LweaLBSSILGS s CHmL
The chord rarely used in composing a melody is?

(1) 1 (2) I @) IV Y
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0O B0 90 gws @005 BB WIHR) WIRG e®DIBS RO?

Ly &8 S60 2 6T sslULTSH DenFoHHmelssT LlensmalmeusmauBmisi sieneu?
Which of the following groups of instruments is not associated with the drum kit?
(1) Bass drum/Crash cymbal/Congo drum

(2) Floor Tom/Snare drum/Hi - hat cymbal

(3) Hi hat cymbal/Bongo/Floor tom

(4) Tam -tam/Ride cymbal/ snare drum

‘I have a dream’ sz 86O ggey ©oBm Dettds D¥ess e®Bs pOe?
eiaumeusoummien o6 Renad Gy “I have a dream” urL_eleir Gengenwis @&plealamg?
Which of the following music would suit the song 'l have a dream'?
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) - I [ - ———
I have a dream__ a song to sing
9 T I N e = T T T T
(2) P 4 L.C - I Y | : I N I I
> P e— > = eIC —
[3) - | I - = ~———————
I have adream___ a song to sing.
0 |
(3) A Lo = o3 o | ]  — ]
[ & an W W3 T | K e 1 T &0 T T Il ¥ i ¥ 1
hANRY4 | | )T T | - & | S ) 1 & 1
o) -l 4 LI = ————
I have a dream___ asong to sing
H f
(4) A be | ] — I K  — |
[ an Wl &3 | -» - P | = Il Il BN 1 ) C1CT 1
o Vo3 73 I oS | | | [ K o | O & I
e - [ - = ~——
I have a dream. a song to sing

esiBusied (dd QD s e T8I Ted buyyens w®8® B&w B w.Bm
a5 e®Di8353 p@e?

eiiaumanemaupmien  sled  @emaliuenL iy OpUCuTedw  @remieudbdenfler bSOl mba  FauIm
ABHMOWIDLHFH HleDMoUTH O (HEUTHBLILIL L &7

Which of the following is the composition written to commemorate Russia's victory over Napoleon's in
vading Army?

(1) William tell Overture (4) Aida

(3) War and Peace (4) 1812 Overture

‘BBmwE 9985 052003 Bos @853 ne?

eiieu@d LML 60&Heied o1& 0 FldbsHelsd @mbad s1(BdHSILLallsvenen?

Which of the following songs is not taken from a Musical?

(1) Far Beyond the Star (2) Somewhere Over the Rainbow
(3) Spoonful of Sugar (4) Mocking Bird hill

‘@Ewiy BOnBe’ »&B maiBu By woBn&wr D53,

"Italian Symphony" @61 SenaFwenLOLILITEITT

The composer of the "Italian Symphony" would be,

(1) J.S.Bach (2) Hector Berlioz
(3) Felix Mendelssohn (4) Joseph Haydn

OB ©@ewrs’ gums Yirs D5ies’ @853 pec?
BITHE QHTLIUTS SHoupmer dmBml LlsialmeusiouBpisT 61gl?

Which of the following is the false statement for "Nurthi"?

(1) Males and females act their respective roles

(2) The songs are more melodious

(3) The Maddalya is used

(4) Dutugemunu & Vessanthara are famous Nurthis by John De Silva
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@000 88 WIBAPEEIS B DIVE ©¢w ¢md &S BOVE) DBenS,
CamuyrCamalB@ CsmegT LCITalBEGL LUl L Gredlens,
The voice between Soprano and Contralto is,

(1) Alto (2) Baritone (3) Bass (4) Mezzo Soprano

&2 woBmo 0 A BB DB @B pOFC?
L6l HaIeTIBMIOT 6Teme) BT LT LITL60HEHL 6T QHTLTLIENL WIenel
Which of the following is associated with folk Songs ?
(1) Ran tikiri Sina

(2) Rathnadeepa

(3) Thel gaala hisa peeran neno

(4) Diya goda sema thena

e®2 am8s3 VDO o Bed® B¢ @ ROC?
LNeTaUBLD HemeVFQFTBHEHET 6Tmel PHSH  H([HHHINL L6
Which of the following terms has similar meaning?

(1) Moderato/ Vivace

(2) Rubato / A Tempo

(3) Diminuendo /Decrescendo

(4) Andante / Lento

G & @B B00ed miadumd Bedn »OBE D10 v Bedn B8R RO?
SIULL B6TT6m eroauyhHalei D8 TO6uewT,
The vibrations per second of the given note is,

-
[ Fan
NV
-y
(1) 265 Hz (2) 880 Hz (3) 128 Hz (4) 440 Hz

@85 gears IR D3ess,

SHUBTE FnBBTH DIGNIOIS],

The false statement would be,

(1) The orchestra is tuned to the 2nd space A in treble clef played by the Oboe.
(2) The string players are seated closest to the conductor.

(3) The audience applause after each movement of a symphony.

(4) The Concert Master is the Leader of the orchestra.

D3e3eedtEo Bo8n wieBRu Dx3es,

LeieumalsalBuieT o1&l JrereroCurdh @engdbamel?

Which of the following is a transposing instrument?

(1) Flute (2) Trombone
(3) Bassoon (4) Piccolo

@0emINCeE D1emB BE eN(B B0 D3es’ e®DBss R®Fe?

OLervsaB OBHGHTLIlsd @emadHs (PWTsd eroeud LlsTelheustelBmIeT 61g?
Which of the following cannot be played on the recorder?

(1) E @) E
3 % @ E]
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Music (Western)
II sy
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* 80D YBHG By BO Y& VHIWO BT BBBB®. YBE® @0 O1Re®E BeNB Y@@

aBDbe O gm0 A 0 B 0200 OES gd@dm 02 a8 emids oB® »e @ne. B8ee® g@m»OE0

O @@ CRER CeR.

seueoHs :

*  slLmw elemmeuren (PpFHevmd eflemeb@d Gusid UGH A ReEHH By elamesend UGS B
RV BHH Qyeni(h eNNTHHEHOTE BTG TS EHHGHID ellenL U6 dE&H5.

Note :

% Answer Question No. 1 which is compulsory and FOUR others selecting TWO from each Part A and B

1. o5 8wz’ wodn estdn glBeHIG WO ¢t 1B YERHORO BEmdt wuwsim.
&6 iUl Beiten RwFsGPilmus sBHmI Lsamd elaimbssendsd elenl wlells@s.
Study the musical extract given below and answer the questions.

Bouree
Allegro ~ G.F. Handel
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(1) c®0® @B Aedded ‘B S» d53ess,
SIUUL_[Beten @emdll QuuwiTiniesr &
The key of the given extract is

(i) @®® ©@cBm Vered PBIEDS Db I BH® B IO e@BEeEO ede?
utt 3 @60 6l & BBEH el Bewa OomouiBeoiB o eTBEHI?
To which key does the piece modulate in bar 3?
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(1i1) @®@® B Pew edewI DB3es bSO eBRsi DSBS, & wews e o exdded
©WICBIB.
@il @ewFwimengl CUTOLISHB CaLsiierd @60 (plyausHL SleBEHl. CLT®HE HSHLOTeN GLISD SOCUTRIBENST 6T(LDHIS.
This piece ends in a Perfect Cadence. Write the appropriate bass notes.

(iv) seED(B A o8 & O G 0858 0. Dovss ne a8 0wl e edivs! 9EE®® Dxies3?
urt 5 @s0 G emwelm & @60 STEILILGEDBSHI. DIMLLILSSGHEGHeT STewiliLBD Csml Gmamen
2 Grmoeit @60db LD,
The key in bar 5 is G minor. The roman numeral of the bracketed chord is

(V) 8:8» 2eadesd ©Dn I AEHOFO O O WO ds DIgmHs DB GuISe SPDBI.
A6l @enFICLWITILIE ST LG @Tenbsiienei GUWIfIL (B, DmdH (PIPDWTS EenFHELD
(PMBEDUI 6T(DSHI.

Name the ornament used in this extract, and write it as it should be played.

Name

N>

(vi) O88 030 ¢iedm BOIDE 8 oz BRHBS OB,
6 GrUAJRIBET STEOILLBLD LITT E)60&hBMRIGEN6T  61(LDHIH.
Write the bar numbers where tied notes appear.

(vil) e308m @eddde Digmde Be Gy edeB QO?
6bd CousdHdled @il Qg QenFshsliL Gousw(BLd
At what tempo should the piece be played?

(viii) 208 Dess BE edmn DB wEpens »H® »Jd OB abde @.BBewns’ Bur ¢Bossm.
A6l @emaulsd sTew LB enLembfld GBuih @sinflenem QUUINLG DIHET DATHHHMS UHIB VG0 SH(HSb.
Name a dynamic mark used in the music, giving its English meaning

(ix) (a) Ll 8E® S0 0080 D D10 HEBD LIBOBID.
@& HT6N GUQAID 61HHMEN HLenaudben @)L LDOILIBIeTeTe?
How many times does the rhythm pattern [ [TT] appear?

(b) @B DeBDG e B BB 0@ @00 @ IND BEMI EBELD BB ©@Be®
RO?
@QenFwmeng UTH6 (LHHeL HTeNHEH0 UTIDLISSULLTeDWenWd GBS LWSLBGSHHID Rengd
HMEVF OFT6L WITGH?
What is the musical term used for music that does not begin on the first beat of the bar?

x) () O wdn» Ve BH® FoWWO (DCBEDeLcEDO) ew ed¢ ?
Qe RemF  61HBTVHAHBGMNWEH?
To which period does this piece belong?

(b) D® weBr&ied w@DIEmeE DO WIBIB.
Qe BenFH HTVHHBG MW FLoBTL EenFWemOLILTNT @Heusnyll CUWIfBES.
Name a contemporary composer of the same period.
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2. ()

(i)

A @20
ugsH A
Part A

BeE? » gBesiOc 910D w0 B 0®eEifis’ @8mb dedcs w@ulien wosim. & wewmo
B0 088 BPes3Ode ©@wics3s.

B Quosvigs emwenyras Lsiialmd sro@sellsne 2 maumds HBEMWw Slolen’t @enenud iSO 6Tye0SHmeTULD
auenrH. Filwmen ewgld HHCaugsenysd GaFToHalbD.

Insert the clef and accidentals to make the following scale belong to in the key of B Melodic minor .
Add the correct Time signature.

]
1

£ 1l
|

ANE Y
T
TN

J‘./'

s BeYs’ 8C® o B BFesiDds ©iSm »O8S 3@idE nSs gF e®dsl debcas
aedinen » ¢Dedines 88edgd ot BeEd 9 ©idm 0 Eosim.

5 0o Hewend Gsmemi GoggT eoBxelensn Fflwmenr & HbCasaFangll LWETLIGHS CFTHem LOBHBID
SiuGyresent (pemmullsd SILILIL[B6Ten HTem allgauHmBLl LiwaiLbHS Cuerd &Geiiied srpsis.

Using the correct key signature write the major scale which has 5 flats, ascending and descending,
according to the given rhythm pattern in the Bass clef.

6 . .

(i) @@ C efecewns’ ¢ic®n 92 eBs301edIss B J® wemr BO0E Hecs O amEs

(iv)

@ ) 3)

wJ O ©@uben SO wewr BedmTBORO adas 8O0 ewIcss.

C @9mpha JbUTGD QusTeyTaids e@selenss o ®mauThsd CoHemeuwmen Ffwmer &6l lene
STp&HIH. aILLULLL soeugmisenst o (hb@uBlulen S BB aaelener LyewriLbssHls.

Insert the correct clef to make this the Pentatonic scale beginning on C. Add the missing notes below
the asterisks to comnlete it.

x X

G WO® B¢ 9BODEE »H® WIBI®.
GBdsIUL L @ayGeusvssmentl QuUWIfBs.
Name the intervals marked [ ]

\
N
.
A

T
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3.

(1) (@) o @ 080 83es3006d armd wvm WRYSS B0 BOICED evg OLOTH.
oy AsCarFFmBCaBL  Usaumd  eveugmismend  OperoBsenemud  Fflwmenr  (penmulsd
OBTGHIIIBHSIS. , . o
Group the following notes and rests correctly according to the given time signature.

o /
4 ]
M\);*'\.\ )
A\ 7

!) ry .)

(b) B8 eug vEL® E¢ e0tsd DB wwm wEWsS D wOLe »I®.
SIULL (Bsiten  UiTeemem  GOmedm  Siebeugdl  OperoBsemends  Oemewt(h  Fflwmer  (pewmuied

OBTGHILBSHSIS.
Complete the following bars with a rest or rests correctly grouped

* ; *
?Q‘L_g—’—;—q 43 i
by'-i I | 1 i I%)BS it

11 11t Q eBDOB DD 2D [SEa)o !t} DD 14t 22900@ 3
i) B 80 e 13} S (S5t5] O DAE ¢ GO edewns’
Basim.
ST [Beien QoL g6l srosugmIGEemen @Il enl U Qumiogduirds Fflwmen engd HobGarFaengll LWeLIBSHS)
HoU e1psIs.
Rewrite the following melody in notes of double the value using the correct time signature

Qﬁ>kb

(iil) @2 G¢ B¢ @RV BEeL® 306 e@IDEII Gdens’ Busim.
SILLL (Bsiten OFTBHEHEGSL CUTH ST HTem SieniolienLl GorTGsmm@rmeafsd 6T1(LpHIH.
Write a rhythm on a monotone to suit the given words.

She was courted by a sailor,
And he loved her as his dear.

(iv) ‘@Red’ 8 ¢ @8 0@dies’ gem® DEO ape Jud O Busim.
2 Gymwsit @evdemiseienmsd @ufidaliul (oo Lywl @enen Gusnisd 61(&HIH.
Write the triad shown by the Roman numerals in the bass.

P~ A LD ] | | —— |
F\ H =¥ | - P r d | | | |
(Y QL o = IR r i & H | P
hANBY 4 Ly ] | L/ b
o) |4 I 4 m
o )" LD ]
J=| [Je¥
VALY - )
v [& ]
1 ivb A% 1
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4. (i) oo wews’ estsiete 8¢ SAT wduben wosis.

S.A.T. @ewenr Ggiihg Leiiaumd CosLsidlenanil LiThd OQFuis.

Complete the following cadencers adding S.A.T.

(i) @dies’ RO weHns’ o8 JO es3wslie HO® wosiH.
Caml Qewerr 2 Gymiosii @evdHEMmBMET LIWSTLUBGSHS &l lpdarl g CaLsidlener QuUMGs.
Name the cadence with chord indications using Roman numerals.

Q | "
)] J
P\ b | V.4 1L
[ o WP J [fanY hal
=V )
e) b
e ) | <) i .d
hll KRV y - Y
ALY (@) e 1L >
L J hul (@) =

(i) 2@ BE® SO0 @MOOMB T 5330853 felid ©wsieds wum weHsd HHY wdubes

DOBIB.

SruUL@eiten  @emg QL BE& oiCs uTemilufed ey

CNGrFemens  BFTHSIN  LLFeILILIBHSIS.

Complete this melody by adding an answering phrase in the same style.

vy

|

P

()

—

B @20 / ugs B/ PartB

IR, G, @O 1 e WeEd 1m0 DOBS v BCHS ol ARG O Vw53

Beowit’ dwm Boesdm.

eaupld Qenasiemibens Grier, <ie0Crm, Qe wBmid Cued HGemissmsnll LTelbasl HBHS
er0@ammfled 6T(pBHISH.
Re-write this passage in open score using Treble, Alto, Tenor and Bass clefs.

[ ———

7

(,‘

f
1
[
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(i1) SO BEHB BB Aeded & ¢ oD ey avY aoE eId VWO amd @Eeds, @OBE
0 ©e30e] 0 Orgenm ©88 ewid wdrles WOTH.
S (Bsiten Gl gB@ 1608y, QroeT wB®ID GarigrCam LGHBmensF BFTH@HS
Add Alto, Tenor and Soprano parts to the following melody.

Allegro

J | —

1
12)
|

EIID

¢
e

!
)

N
BT

T e TN

-\

QQ;’ND
N
N LﬂI

| —1%
R

2| —0

IIb v

6. (1) 2 a8 e ) ©OIBR O B WIertds »HE® BOTIH.
SIULL_(BeiTen FTenLSHenend CsTewnih QenFhHsmalsamen Qamiss B LwfBa
Identify the instruments from the clues and name it.

(a) G.D.A Eo8S 3usl 0 o westdess.
P west) gRln’ dwo ewldtiens emde Digme »OE.
@z G-D-A-E etenn spg) CafisslLl L @@ HbhdHbamel
Rzl HhAHH smasefe Llflallsd GamigrCam uGHmuw BenadH@b
It is a string instrument which is tuned to G-D-A-E and plays the soprano part of the string
section.

(b) HRESD Docs WreRW O g¢md BBOE SDwW ©iDm ®J eBBY e sHES ed¢w
Besed&.
A3l @ HTBBIE Ml Hell il Gemer LIWSTUBSHIUSIL 65 6TRSHLILILL Hell®BhgH g 2 &Slprs
@6JBHGLD.
It is a wood-wind instrument using a single reed and sounds a Major 2™ lower than writen

() B stwes’ vwmed 8B Metus O and OSeow ©Je®s3, aBCRe®S wy VB
OB Docmde DE HD.
A @R ST UTHHWD Q6TBILe  eeim Gordujd o gfujd @ewFUUSIL 6T Sl TemTsvId
D19 &H&60T
It is a percussion instrument which can be clashed and rubbed together and played with a
beater

(d) oG o9 e a» OB e Becdm Gl vemed s HIHIGD. I8 w.Bmw
eIRGE Ben OB Ewo (B and semd v BHwEs’ K& are.
Aa @ Upred sMBEIbsmel i wewl Cumss sumulssl mEBmWF OFaids) OsusiGaummenr
@60&emeT s1(pLILeVTLD. @enawirengl Qe SQemied sTIHULIBEUSIL 6T TIPSLILIL L 606U &6V (BHSI
GuTQUEL. 5 Hpred PeIHGLD.
It is a Brass wind instrument where the hand is inserted into the bell to produce different sounds.
Music is written in the treble clef and sounds a Perfect 5th lower
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(i) o> wBeHs’ ©odn Aeadds @by g&ds o go.
alemessen &6 SHIULLBeiTon GenaFll QUWITUmL DQUILIENL WTHES OBTEmIL en6l.
Questions are based on the musical extract given below.

0 ‘

S e e s s e e e e e e e E—

\V‘ill\ll | [ A ¥ 1 [ ™ N I N I N N | g T [ 1T 1|

o o deg & * Cr T i s vt S
8O e 8 -® @ -Q - &omes-H» Y -F-8 668 8 & - F

(a) 2 a8 Bos emes ©dn deadids ans 053053 RIBEmO ¢? VOO ¢?
SIUUL[Belten @endll QUWITIILITETIEH! BTL SHHNMBSHT DIeV6VSHI BITHHUNMHHST LBLILL (Heeng)?
State whether the given melody is from a Nadagam or Nurthi?

(b) 2 a8 woBm» eted sgG B 04 6d8n B.Bm 00 OED ©8lmmE WIBH.
SILILIL (Bsiem QoL 1geit  (Lp&Hs0 BI6IE LTTHmeNLD SmpHCaH @ensd GBUILG (wenssniouisd

LomBs eTpSIS.
Convert the first four bars of the melody into oriental notation.

(iii) eom wens’ D853 O 8¢ emdewns’ dtdmd wos3s.
Leraumeatsneupilsd eeiindensniumn &Hmasons eilufloas.
Explain one of the following briefly.

(a) Variation Form (b) Rondo Form (¢) Ternary Form

(1) tyces BETT @wic®s wwm wews’ DR wdnden wIBID.
&6 HrLLL_(Beienm i Leuenemienwld  Fllwimen elenLdenend Oomewi(h BIFLiLs
Fill the following cages with suitable answers.

Composer Period Nationality Composition
J.S. Bach

Fidelio

Polish

Modern

(ii) oo wevs’ 08 ecws 88ag Swdnd wosim.
LeraumeusneuBmieT @euwgensn aiLifldbas
Explain two of the following

(a) Sonata (b) Jazz music (c) Concerto (d) Opera

* k%
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(41) o8B (2080)
FhIBHHID (BLoensudhBHul)
HewiBn «OFeens
CFwedpemmll LIfL e &6l
Practical Tests
(1) @o» =Bvens - ©@8n Swom® - (e 30)
QFalwdsHHe0 - (30 UsiTeldber)
Listening - Group work ( 30 marks )

(2) 08 988us B8 - (Gmer 50)
ABWIenS - (50 Lsitellgbeir)
Performance - ( 50 marks )

3) ewuiBn Gozow® - (ERer 20)
Qewe(psns (WpwBFseT - (20 Ysitelaeir)
Practical Activity - ( 20 marks )

(1) go» O Fsens - (goons Sedz B8Enor wsde) - (e 30)
CealioBHHev CFwpur®d — CFalivBoHa el wefldshsv (30 LsTefasiT)
Listening - Listen & Answer ( 30 marks)

5@ 88 CD m13¢8 2ne®mods3 8ewr DigHE 0% Ced. 98 gE»ORD 880
GB® wew qumeB spos Bony ERD 90 ancdmoDs 85 d9® 8Endr wdnsl »om
C1ed. gdwimed mOm 10wz CD @i Dicme »OE CroR.

UsLBaIBILL L elleTdsemend OHBmewni @miel B LoTerelTaEhd@&Gl GUTL (hé ST L LILI{HLD.
SaTHeT  oiHwendF OFalobhsHas o flu elamsseps@iu sflwrear alenLsnw  srUUL(Beitem
HT6M60 6T(1PHIUTTH6N/ GUILILITTHET. 6 GmeIl L mengl WewiBLD @ HLewer Cal Lm Lfl snguiler
Wpelsd @ (Wwemm WL B Gum BaHaTLLILLD.

A CD containing the questions would be played for the candidates, to listen and mark /
write the correct answers for the relevant questions on the paper given to them. The CD will be
played once again at the end of the listening test without repetitions.

REenrs

BaiTey(pemy
Criteria for the modalities

° CB®530e wEm ©(5e.
(BePBEe, 9u30DEE, Judd, emtsinles, AEmHO©»HIeI)
BuemensHBaw Renaullsi DIYLILIHL HN6T S 60HISHTEmI60
(6r0Bm60, QerGleusy, Lywil, GsLeierd, giTenblosi3)
Identifies Rudiments
(Scales, Intervals, Triads, Cadences, Ornaments)

° 8w w1 @3B w0 ORe.
(0®8Y 01 OB Be3dE)
SHTeM emLoLIenULD GymerelBflenuiuld E)eumISTemnTe0
(GLoggi™ OBMID  EWLDIT &5)
Identifies Rhythm & Tonality
(Major — minor keys)
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woBmed eBmiesn HEm ©1Se.

(o ©8Dedcs, ©Bnwds3, ®iBs3)

RenFullest aIFeLTBSIENT  E)6uIHhIGTEmT60

(BTEVSHLL LD, SenFWIsHLOLILTENT OBBILD EenFUIsHLOLIL|SHEH61T)
Identifies History of music (Period, composer and compositions)

B cooBs weBme 01 O8 B 9esd) e ©15e.
RQevmiend QenFenul BHID SNFHHHAIHMENT  E)6UMHIHTI60
Identifies Sri Lankan Music & Instruments

ROBJS o8 00e38), @IS, DB e w33 DG 1 BBL eerlBs’ wg OG1Re.
RemFHHMHNH6, ..CUTD, HMVFOFTBH6NT, GHMIUIBH6T LOBBID CIHBHEN6NUILD
LTl BeMEUD G EuTISHT6uT60

Identifies Instruments, Form, Terms & Signs, Types & Styles

(2) ©e0:8» 988w 8GO - (e 50)
ABmIend (50 Leieriamein)
Performance - ( 50 marks )

(i) o

(ii) o

(iii) o

BBedn 05 ¢ wodn Aedd) gpdsl I edemided Diems »E GG, d6 R0ls
ed. (Crea 12)

OB&EBsTLT - sl Lmubd (12 yeitefameit)

UbsHBHIH0 LI IguIelL L (heiem LML 6v&slT /| @ends@mILILIg 6.

It is Compulsury to play one of the pieces on the Recorder listed in the book. (12 marks)

0@ ©@00e® & @Oddwr DB wwin Dicmne WE G g0 8Peens gdddied T
8w D53 @0 DIeHS WE GE.

The teacher is expected to accompany the students at school level. At the examination an
examiner will accompany the candidates.

UTLFmenev oL L Salsd M omemelTsendsd@ LIWmGammenal LidoalTSHha LTS
aurdliunt. uflenguier Curg Uf F&T USETHHWSHMS eUTFLILTT.

B&Om 0008 @i w8 Dertde D8 160 o8l O et aug®mdds0 @8
DIHBBS DS BE W1. (@Ceminds »19) (10 marks)

3Bc@woOTed a80mn ©u8E Bwuiemdd, B oD el Be® wolnm DIHGES emIcy
OB V.

GPHSH HIHMSWMLW 16 LUMTHEHHEGHH GHmBUWTSH RenFuleniolienll gHTalsl GLoensvdHGHul
QAmFHBMHIUNL RenFHHe0. (10 UsiTericmsiT)

Wwim@er, &6uUT.  osvevgl  omewiauflenn  OeNelBCsBL  OBHBHTLT  HelThsh gHTauH
RnFHBHHEN.

Play on any instrument, a composition of substantial standard not less than 16 bars.

Piano, Key board or any other instrument of the students choice, but excluding the
Recorder.

B osmas (e 10)

Bbedn mdm ¢ B apbs’ d8 e »e . 0®® Bmosi8 ¢dd gedmd 11
D630 QO @iesIens aES 0 ard.

ur®G&He0 (10 Leieriieerr)

UsSSEHHe0  SIUULGBeTem  UTLe0S6Me0  geiTendpll  LUTHHIHE0. LML 60BHEHSHSTE
BmFs@MILILEHeT AR opfleemyiy euflariiguied eupmIsLILIL (HeTengl.

Singing (10 marks)

Sing one of the songs listed in the book. Music Scores are provided in grade 11 Teacher’s
Instructional Manual.
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@iv) o

(V) °

DIBBE BCWO IS DB @005 B8O 8 e w8 amd & wewr 8@md
CRER ©¢T) OMIEOR.

wrewelT UG CuTal HwEEGHH ST  USSHAUTHHWSHMS aITFbdd  FnlgUIHTH
QAEHBHTOD ASBEH ANTHT SDIOHBHIUBATTHET. LbHBMTHHU RenFd@ LsiTerHei
GULDMRIGLILIL LOTL L TG

If there are students who could sing as well as accompany themselves they should be
allowed. No marks will be given for accompanying.

080 880 (Buiemdd end @demidde Dicms »e GaE.)
utrdhal aumrdlesHe0 (OBaECHTLT isveug LwimBerr)
Sight Reading (Recorder or Piano - 8 bars) (06 marks)

80 83853 woieses oren - C 80 G ¢, 888 - B 3@ 80 F e
(D98 4290 ©20D(8)

UTTSHSIL LUTHSH60. 5 e0aIIRIBEHHGL LI L eiFg

Quenirser C— G, <yewissit - B flat— F (4 unrsens@ GomuLmiosv)

Sight singing — range within 05 notes. Girls — C — G, Boys — B flat - F
(Not more than 4 bars)(04 marks)

Booe¥d 91 00l .8 ©1e3dE oG Dicme BE Gue.
Scales Should be Played on recorder and piano. (08 marks)

HeosEes - B o), Bwiexmd - C, G, D, F, B 3ci© o®=5e e A @9 D o8e®iS
OB (V5000w e 553)

edemiddte - C, D, F e®#6e, D @858 (50000 «®ea)

oBseVe - OB&HGHTLT oBmId LNwimGerr

Hwr@swm C, G, D, F, Bilen_ Gt wipidb D esri@uoreis eowsrm (@ e@dfel &
mBHEHD CFTHHI)

Om&6sTLT - C,D,F Gz, wBmid D enwenit g@m edCyrsi

Scales — Keyboard or Piano

Piano — C, G, D, F, B flat majors and A and D Haromnic minors
(One octave hands together)

Recorder — C, D, F majors, D minors one octave

PewiBn Bwidm® - (e 20)
Qewesipens WpwBFssT - (20 Ysitefaeir)
Practical Activity - (20 marks )

8B0sE ¥ »OsYHD 080 BFesFOCeBS mm» ¢ 8w b 48 goens BSe®n’
0830 SO0 asind ©rBe.

SibNeT edId BEID Fnl B lQuliden enyid HHCIFFTHEmeN 2 _6mL_ Ul 4 uniisemend
Osmemi. QLB B® (Womp QMFeESEUULLS6  LlstenT b Gl igsnr e enend
MBI 1985 ST (HFH60

Clapping a rhythm of 4 bars after it has been played twice in simple time signatures and
compound duple time. (4 marks)
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6é® Dbwvs wgmerm F0 BEO.
oyl FobCanFailenen GSeumIBTERILGIL 681 LiB ewyld emenit GuUT_ (B S (BHIH60
Identify the rhythm and beat time. (4 marks)

DO B 423 GOens BB8e®s3 e mivmn BTO.

4 uniissn oILmBW HbleT engd HHCansafonsnd Garewi GLLG Srewi®
SLMUBET BenFHalILL L Heir LeiienT SigHemell Umh e/ s/ aidlevigdhas0
Sing / hum/whistle a melody of 4 bars after it has been played twice. (3 marks)

DO 8E® D0 By d® 5@ COd arind m»Be®s enside.
STULIL(BETEN HT6NM 6UgaIeNOLIenL LTTHSHIH HBHL(HH0
Read & clap the rhythm pattern of a given melody. (4 marks)

B om0 O Dicmds BBCe®s3 vy ane e®BY tHoes visme S8E.
& eauIlD @ellshd LilsenT @ HCrst GomiT eroBselemsill LITHH60
Sing an 8ve of a major scale after the key note has been sounded. (2 marks)

Y 4 Sebied O gders BSOS gD 98 9808 em0e gt »Be®s3 ews
©B3200D53 YRDIJ SDe.

Ol yenendF CFelioBsHs ASBSTW elHHHe0 HTem (LpeHBemUTsd SisVevdH Gl (H
wemmenoullsd LUFHeveldHs0 (Flev LMTHEemeNd Oomemi  Goligenetl LUTHH60 DI6L60H
mBHLI9L1  LIg6v6T&HFHev)

Listen to a tune played and respond in a rhythmic or melodic manner. (Respond by
clapping or singing to a few bars played) (3 marks)
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